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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 19353 7.4 2.3 10 73.9 100
2 19310 2.9 1.6 6 49.1 99.7
3 18733 2.8 2 6 46.8 96.8
4 19254 2.5 0.8 3 82.4 99.5
5 19301 3.3 1.4 6 54.5 99.7
6 18782 2.1 2 6 35.8 97
7 19168 2.5 0.8 3 84.8 99
8 18434 2.5 1.5 4 63.2 95.2
9 16660 1.1 1.3 4 27.4 86

10 18987 2.9 1.4 6 49.1 98.1
11 19256 2.4 1.3 4 59.9 99.5
12 16204 0.1 0.5 2 7.1 83.7
13 18717 3.5 1.4 6 57.8 96.7
14 18486 3 1.9 5 60.7 95.5
15 18899 3.1 1.7 6 51.3 97.6
16 16257 0.7 1.2 4 16.9 84
17 17325 0.7 1.1 4 16.9 89.5
18 16929 1.6 1.5 4 39.1 87.4
19 17980 0.2 0.7 3 8.2 92.9
20 12406 0.2 0.5 3 5.8 64.1
21 11450 0.2 0.6 5 3.4 59.1
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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3. You will be assessed on the quality of your written communication in this question.

A window cleaner takes 15 minutes to clean each window in a large building.
He charges using the following formula:

payment = £8 x number of hours worked + call-out charge

Calculate the payment for cleaning 20 windows when the call-out charge is £12.	 [6]
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Sticky Note
M1
A1
M1
A1
QWC1

Sticky Note
A very good answer marred by comments like these.
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3.

Sticky Note
M1
A1
M1
A1
QWC 1

Sticky Note
The candidate has written his method as a summary. The objective of QWC is to annotate his/her solution as it develops.
There is no detail to show how the £52 was achieved.
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6. Two rectangles, each 9 cm by 3 cm, and an overlapping rectangle, 8 cm by 3 cm, are placed so
that they make the H shape shown in the diagram.

© WJEC CBAC Ltd.

8 cm

3 cm

3 cm

3 cm3 cm

9 cm

Diagram not drawn to scale

	 (a)	 Calculate the perimeter of the shape.	 [3]

	 (b)	 Calculate the area of the shape.
Write down the units of your answer.	 [3]





Sticky Note
This was a popular correct method in part (b)

Sticky Note
  M1
  A1
  U1

Sticky Note
 S0
 M0
 A0

Sticky Note
Many candidates did not find this side to be 2cm.



(4370-03) Turn over.

4
3

7
0

0
3

0
0

11

11
Examiner

only
9. A rectangular tank has a length of 20 cm, a width of 15 cm and a height of 10 cm.

Water is poured into the tank until it is half full.
Calculate the volume of the water in litres. [4]

© WJEC CBAC Ltd.

10 cm

20 cm

15 cm

Diagram not drawn to scale





Sticky Note
Divided by 100  instead of 1000 to change cm3 to litres

Sticky Note
Volume of the tank calculated instead of the volume of the water
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16.	 The area of the trapezium is equal to the area of the right-angled triangle.

© WJEC CBAC Ltd.
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Diagrams not drawn to scale

	 Calculate the value of x.	 [4]
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Sticky Note
M1
A1
M0
A0

Sticky Note
Many candidates omitted
one or other of the 1/2s in
the formula for the area of
a trapezium or right angled
triangle.
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Sticky Note
M1
A1
M1
A1

Sticky Note
Some model answers were seen.
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17. The pie charts show the proportion of boys to girls in class A and class B.

© WJEC CBAC Ltd.

Class A

Boys

Girls

Boys

Girls

Class B

There are more pupils in class B than in class A.
There are 4 boys in class A.
There are 1     times as many girls in class B than in class A.
How many boys are there in class B?	 [4]

1
2
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17.

Sticky Note
B1
B1
B0
B0

Sticky Note
Gets to the stage of 12 girls in Class A and correctly works out that there are 18 girls in Class B.

Sticky Note
Then fails to deduce that the number of boys in class B is half the number of girls. Many candidates thought there were 1/3 boys in class B.
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17.

Sticky Note
  B1
  B1
  B1
  B1

Sticky Note
This work finds the 12 (girls) and multiplies it by three then divides by 4. This is equivalent to multiplying the 12 by one and a half and then halving the result.


	WJEC 2014 Online Exam Review
	GCSE Mathematics Linear 1 4370-03
	Item Level Data
	Facility factor graph
	Question 3
	Mark scheme
	Example 1
	Marked example 1

	Example 2
	Marked example 2


	Question 6
	Mark scheme
	Example
	Marked example


	Question 9
	Mark scheme
	Example
	Marked example


	Question 16
	Mark Scheme
	Example 1
	Marked example 1

	Example 2
	Marked example 2


	Question 17
	Mark Scheme
	Example 1
	Marked example 1

	Example 2
	Marked example 2








© WJEC CBAC Ltd. 


1 


PAPER 1 - FOUNDATION TIER 


Summer 2014 Paper 1 (Non calculator) 


Foundation Tier 
Marks Comments 


3. Hours  =  20 × 15 (minutes)     20 × ¼ (hours)


= 300 (minutes)  = 5 (hours) 


Payment = 8 × 5 + 12 


= (£) 52 





M1 


A1 


M1 


A1 


'hours' not required at this stage 


F.T. ‘their time’ (must be an 


attempt to convert to hours). 


Special cases 


Candidates who do 


8×20+12 get 


SC1 for the (£)172 


Similarly SC1 for 


(£)132 from 8×15+12 


Look for 


 spelling


 clarity of text explanations,


 the use of £s, hours and minutes


QWC2: Candidates will be expected to 


 present work clearly, with words explaining


process or steps 


AND 


 make few if any mistakes in mathematical


form, spelling, punctuation and grammar and


include units in their final answer


QWC1: Candidates will be expected to 


 present work clearly, with words explaining


process or steps 


OR 


 make few if any mistakes in mathematical


form, spelling, punctuation and grammar and


include units in their final answer


QWC 


2 


QWC2 Presents relevant material in a coherent and logical 


manner, using acceptable mathematical form, and with few 


if any errors in spelling, punctuation and grammar. 


QWC1 Presents relevant material in a coherent and logical 


manner but with some errors in use of mathematical form, 


spelling, punctuation or grammar.    


OR 


Evident weaknesses in organisation of material but using 


acceptable mathematical form, with few if any errors in 


spelling, punctuation and grammar. 


QWC0 Evident weaknesses in organisation of material, and 


errors in use of mathematical form, spelling 
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Summer 2014 Paper 1 (Non calculator) 


Foundation Tier 
Marks Comments 


All parts (a) – (b) marked at the same time 


To be viewed with diagram 


6. (a)  Missing inside segment  = 2


Perimeter = 9+9+8×3+2×2 


=  46 (cm) 


To be viewed with diagram 


    (b)  Area = 8×3+4×3×3  OR   8×9 – 2×3×2 


(= 24 + 36)  (= 72 – 12) 


= 60 


cm
2
 





S1 


M1 


A1 


M1 


A1 


U1 


You must also check the diagram for any working. 


Must be seen in part (a). 


Attempt to add all sides of the shape.  


Use 42+2x for M1 where x stands for ‘their 2’ 


S1, M1 for methods that imply the '2', e.g. 9×2+8×2+4×3 


C.A.O. 


Attempt to add all areas of the shape OR difference of areas 


C.A.O. 


Independent of all other marks. 
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Summer 2014 Paper 1 (Non calculator) 


Foundation Tier 
Marks Comments 


To be viewed with diagram 


9. Volume = 20 × 15 × 10 (× ½)


= 1500 (cm
3
) 


= 1500/1000 


= 1∙5 litres 





M1 


A1 


M1 


A1 


No need for the ½ for the M1. 


CAO 


FT 'their 1500'/1000 


‘litres’ not required but A0 for incorrect units. 
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Summer 2014 Paper 1 (Non calculator) 


Foundation Tier 
Marks Comments 


To be viewed with diagram 


16. Area trapezium = ½ × 5 × (6 + 10)


    = 40 (cm
2
) 


Triangle:   ½ × 10 × x = 40 


     (x = ) 8 (cm) 





M1 


A1 


M1 


A1 
For equating ‘their 40’ (any value) with ½ × 10 × x 


FT correct evaluation from ‘their 40’ (their value) 


SC2 for an answer 8(cm) from  area of trapezium =  


5 × (6 + 10) = 80 followed by area of triangle =10 × x = 80, 


or 


SC1 for a 2 stage method equating 10 × x with 


 5 × (6 + 10) with error in calculating x 


A full one stage method 10 × x = 5 × (6 + 10) or equivalent 


is correct for 3 marks. 
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Summer 2014 Paper 1 (Non calculator) 


Foundation Tier 
Marks Comments 


To be viewed with diagram 


17. Class A has 12 girls


Class B has 18 girls 


There are twice as many girls as boys in class B, 


or ⅓ of class B boys, or ⅔ of class B girls 


Class B has 9 boys 





B1 


B1 


B1 


B1 


FT 1½ × ‘their 12’ correctly evaluated (but NOT 1½ × 4) 


Sight of 18 implies first B1, B1 


OR Class B: Angle girls 240°±2° and angle boys 120°±2° 


This may be implied from their numbers of girls and boys in 


class B. 


Note: ⅓ of 18 does not imply ⅓ of class B boys, hence B0 


         ‘18 is ⅔’, implies B1 


CAO 
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